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1. Which institution published the ‘Women, power, and cancer’ report?

a. WHO

b. CDC

c. Lancet Commission

d. John Hopkins University

Answer. c

2. Upper Bhadra scheme, which was seen in the news, is a project of which state/ UT?

a. Uttar Pradesh

b. Madhya Pradesh

c. Karnataka

d. Odisha

Answer. c

3. Which herbicide has lately been subject to restrictions by the Indian government out of concern for the safety of people and animals?

a. Glyphosate

b. Glufosinate

c. Atrazine

d. Carbofuran

Answer. a

4. Which country and India decided to collaborate on future ICT, mobile technologies, and digital education projects?

a. Thailand

b. Finland

c. China

d. USA

Answer. b

5. Who has been appointed as the CEO of the Khadi & Village Industries Commission (KVlC)?

a. Ajay Bhushan Pandey

b. Abhishek Singh

c. Ajay Bhushan Pandey



d. Vinit Kumar

Answer. d

6. Which state has the first 3x platform wind turbine generators (WTGs) in India, installed by ReNew Power?

a. Rajasthan

b. Karnataka

c. Tamil Nadu

d. West Bengal

Answer. b

7. Which country and India signed an MOU to establish the Phukot Karnali Hydroelectric Project?

a. Nepal

b. Bangladesh

c. Myanmar

d. China

Answer. a

8. Which state passed a bill amending the procedure to select police chief by cutting out role of the UPSC?

a. Punjab

b. Maharashtra

c. Kerala

d. Rajasthan

Answer. a

9. Which nation launched the Yakutia nuclear-powered icebreaker?

a. Australia

b. France

c. Germany

d. Russia

Answer. d

10. Which Asian nation was the first to receive funding from the IMF's Resilience and Sustainability Facility (RSF)?

a. India

b. Bangladesh

c. Nepal

d. Pakistan

Answer. b

11. Galapagos Island is a UNESCO world natural heritage site located in which country?



a. Indonesia

b. Ecuador

c. South Africa

d. New Zeland

Answer. b

12. INDUS-X is a joint initiative of India and which nation?

a. Australia

b. UK

c. USA

d. Italy

Answer. c

13. Which of the following Indian social reformers created Raja Yoga, Karma Yoga, Bhakti Yoga, and Jnana Yoga?

a. M. G. Ranade

b. Ramkrishna Paramhansa

c. Swami Vivekanand

d. Raja Ram Mohan Roy

Answer. c

14. Swaraj as a national demand was first made by:

a. Bal Gangadhar Tilak

b. Dadabhai Naoraji

c. Jawaharlal Nehru

d. Chittaranjan Das

Answer. b

15. Who came up with the slogan "Inqlab Zindabad"?

a. Bhagat Singh

b. Moulana Hasrat Mohani

c. Iqbal

d. Chandra shekahar Azad

Answer. b

16. Who started the Bombay Association in 1852, the first political organisation during the administration of Bombay?

a. Jagannath Shankarsheth

b. Dadabhai Naoroji

c. Surendra Nath Banerjee



d. Sir Syed Ahmad Khan

Answer. a

17. Which of the following acts established the constitutional autocratic principle?

a. Government of India Act, 1919

b. Indian Councils Act, 1891

c. Independence of India Act, 1947

d. Government of India act, 1935

Answer. d

18. Who was responsible for the end of Lord Clive's dual administration system?

a. Lord Curzon

b. Lord Warren Hastings

c. Lord Amherst

d. Lord Linlithgow

Answer. b

19. When the Treaty of Bassein was signed, who was the Peshwa?

a. Bajirao I

b. Balaji Biswanath

c. Bajirao II

d. Madhavrao I

Answer. c

20. Which of the following established the kingdom of Kapurthala?

a. Banda Bahadur

b. Jassa Singh Ahluwalia

c. Kapur Singh

d. None of the above

Answer. b

21. Which of the following Congress sessions saw the formation of the Swaraj Party?

a. Nagpur

b. Calcutta

c. Gaya

d. Lahore

Answer. c

22. Which of the following year saw the creation of the Central Provinces?



a. 1861

b. 1862

c. 1863

d. 1864

Answer. a

23. In which year did M.N. Roy founded the Communist Party of India in Tashkent?

a. 1915

b. 1916

c. 1918

d. 1920

Answer. d

24. Which of the following started the Faraizi revolt?

a. Bhagat Jawahar Mal

b. Haji Shariat-Allah

c. Syed Ahmed

d. Chirag Shah

Answer. b

25. In terms of geographical area among Indian states, what is Maharashtra’s rank:

a. 1st

b. 2nd

c. 3rd

d. 4th

Answer. c

26. Which of the following bird Sanctuary is Maharashtra's first Ramsar site?

a. Nandur Madhmeshwar Bird Sanctuary

b. Jayakwadi Bird Sanctuary

c. Mayani Bird Sanctuary

d. None of these

Answer. a

27. Which of the following wildlife sanctuary of Maharashtra is also known as Bison Sanctuary?

a. Phansad Wildlife Sanctuary

b. Radhanagari Wildlife Sanctuary

c. Ghodazari Wildlife Sanctuary



d. Sagareshwar Wildlife Sanctuary

Answer. b

28. In which of the following years was Chhatrapati Shivaji Terminus designated as a UNESCO World Heritage Site?

a. 2000

b. 2002

c. 2004

d. 2006

Answer. c

29. Bharachukki Falls are located in which state of India?

a. Karnataka

b. Andhra Pradesh

c. Telangana

d. Tamil Nadu

Answer. a

30. Which of the following is the main crop of the Deccan Plateau?

a. Wheat

b. Ground nut

c. Pulses

d. Cotton

Answer. d

31. Which of the following is Karnataka's highest peak?

a. Mullayanagiri

b. Baba Budan Giri

c. Brahmagiri

d. Pushpagiri

Answer. a

32. The Kaas plateau is situated in which of the following Indian states?

a. Karnataka

b. Kerala

c. Andhra Pradesh

d. Maharashtra

Answer. d

33. Which Indian state is the largest producers of salt in the country?



a. Tamil Nadu

b. Gujarat

c. Maharashtra

d. Rajasthan

Answer. b

34. On which water region does Andaman and Nicobar Islands lies?

a. Indian Ocean

b. Arctic Ocean

c. Pacific Ocean

d. Bay of Bengal

Answer. d

35. The Dal Lake is located in which Indian union territory?

a. Chandigarh

b. Andaman and Nicobar Islands

c. Jammu and Kashmir

d. Ladakh

Answer. c

36. The Gulf of Mannar is located in which Indian state?

a. Tamil Nadu

b. Kerala

c. Karnataka

d. Andhra Pradesh

Answer. a

37. Who was the First President of India?

a. Dr. Rajendra Prasad

b. Ram Nath Kovind

c. Pranab Mukherjee

d. Manmohan Singh

Answer. a

38. Who is the head of the state government in India?

a. Governor

b. Chief Minister



c. President

d. Prime Minister

Answer. b

39. What is the minimum age to be eligible for becoming a member of the Rajya Sabha ?

a. 30 years

b. 40 years

c. 25 years

d. 35 years

Answer. a

40. Which committee is responsible for reviewing the fiscal policies in India?

a. Economic Advisory Council

b. FRBM Review Committee

c. Public Accounts Committee (PAC)

d. Planning Commission

Answer. b

41. In which year FRBM Review Committee was formed?

a. 1947

b. 1950

c. 2015

d. 2016

Answer. d

42. As per the Indian Constitution who has the authority to dissolve the Lok Sabha (House of the People)?

a. The Chief Justice of India

b. The President

c. The Speaker of Lok Sabha

d. Mayor

Answer. b

43. Who appoints the Chief Election Commissioner of India?

a. The President of India

b. The Speaker of Lok Sabha

c. The Chief Justice of India

d. The Prime Minister of India

Answer. a



44. Who has the power to remove a Judge of the Supreme Court of India?

a. A special committee appointed by the President

b. The President

c. The Chief Justice of India

d. Governer

Answer. b

45. Which article of the Indian Constitution deals with the Right to Freedom of Religion?

a. Article 32

b. Article 19

c. Article 21

d. Article 25

Answer. d

46. Which organisation helps parliament of India to keep control over the finance of the country?

a. Economic Advisory Council

b. Planning Commission

c. Public Accounts Committee

d. Financial Committees

Answer. d

47. Which schedule of the Indian Constitution deals with the provisions that specify the powers, authority and responsibilities of Municipalities?

a. Second Schedule

b. Fourth Schedule

c. Twelth Schedule

d. First Schedule

Answer. c

48. Which schedule of the Indian Constitution lists the powers, authorities, and responsibilities of Panchayats?

a. Ninth Schedule

b. Twelth Schedule

c. Tenth Schedule

d. Eleventh Schedule

Answer. d

49. When did National Food Security Act was passed?

a. 2013

b. 2014



c. 2015

d. 2010

Answer. a

50. Which social group is targeted by the National Food Security Act (NFSA) for providing subsidized food grains?

a. Pregnant women and lactating mothers

b. Children between 6 and 14 years

c. Senior citizens above 65 years

d. Antyodaya Anna Yojana households

Answer. d

51. What is the primary focus of the National Health Mission (NHM) in India?

a. Improving healthcare infrastructure

b. Implementing health insurance schemes

c. Conducting medical research

d. Promoting medical tourism

Answer. a

52. Which one of these is not a major goal of National Health Mission ?

a. Reducing Total Fertility Rate

b. Prevent and reduce anaemia in women

c. Reducing Maternal Mortality Rate

d. Increasing overall GDP of India?

Answer. d

53. In which year National Health Mission was introduced?

a. 2000

b. 2010

c. 2013

d. 2020

Answer. c

54. Which of the following is a component of the Multidimensional Poverty Index (MPI)?

a. Foreign direct investment (FDI)

b. Living standards

c. Stock market performance

d. Gross National Product (GNP)

Answer. b



55. What is the aim of the National Rural Livelihoods Mission (NRLM) in India?

a. To reduce poverty by promoting self-employment and enterprise development

b. To increase agricultural subsidies

c. To provide free healthcare services in rural areas

d. To promote urbanization and migration

Answer. a

56. Which of the following is a measure of gender inequality used in the Human Development Index (HDI)?

a. Gender Parity Index (GPI)

b. Gender Development Index (GDI)

c. Gender Inequality Index (GII)

d. Gender Empowerment Measure (GEM)

Answer. c

57. Which international organisation introduced Sustainable Development Goals (SDGs)?

a. World Health Organization (WHO)

b. International Monetary Fund (IMF)

c. United Nations (UN)

d. World Trade Organization (WTO)

Answer. c

58. Which of the following is a key component of a participatory democracy?

a. Monarchical system

b. Active citizen engagement in decision-making

c. One-party rule

d. Authoritarian governance

Answer. b

59. Which among these aims of a social safety net program aimed at reducing poverty in India?

a. National Aeronautics and Space Administration (NASA)

b. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)

c. Reserve Bank of India (RBI)

d. Securities and Exchange Board of India (SEBI)

Answer. b

60. What is the concept of "Inclusive Growth"?

a. Growth focused on technology and innovation

b. Economic growth that benefits all sections of society



c. Growth of a specific industry

d. Rapid growth of urban areas

Answer. b

61. What is the scientific name for the study of animal behavior?

a. Ethology

b. Botany

c. Entomology

d. Ornithology

Answer. a

62. Which of the following is a Venomous snake?

a. Boa Constrictor

b. Python

c. Rattlesnake

d. Anaconda

Answer. c

63. Which of the following is a gymnosperm?

a. Oak tree

b. Rose bush

c. Lily flower

d. Pine tree

Answer. d

64. What is the function of a fish's swim bladder?

a. Digestion

b. Buoyancy control

c. Breathing

d. Reproduction

Answer. b

65. What is the process by which plants bend or grow towards a source of light?

a. Phototropism

b. Photosynthesis

c. Hydrotropism

d. Gravitropism

Answer. a



66. What is the chemical symbol for Lead?

a. Ld

b. Le

c. Pb

d. Pd

Answer. c

67. The colour of the eye depends upon the pigment present inside?

a. Rods

b. Iris

c. Cornea

d. Cones

Answer. b

68. Which of the following is an example of a scalar quantity?

a. Velocity

b. Force

c. Acceleration

d. Temperature

Answer. d

69. What is the purpose of flower in plants?

a. Photosynthesis

b. Reproduction

c. Nutrient absorption

d. Water storage

Answer. b

70. Which of the following is an alkali metal?

a. Sodium

b. Chlorine

c. Aluminium

d. Calcium

Answer. a

71. Which among the following waves is used for communication by artificial satellites?

a. Frequency of 101 series

b. Radio waves



c. Microwaves

d. A.M.

Answer. c

72. Which law states that the angle of incidence is equal to the angle of what?

a. Diffraction

b. Refraction

c. Dispersion

d. Reflection

Answer. d

73. Which one of the following is caused due to mosquito-bite?

a. Typhoid

b. Cholera

c. Malaria

d. Tuberculosis

Answer. c

74. How many handshakes if there are 20 people?

a. 140

b. 160

c. 190

d. 170

Answer. c

75. The total age of eight kids in a family is 28 years. What will be the total of their ages after eight years?

a. 92

b. 98

c. 96

d. 91

Answer. a

76. Simplify: 70 – 40 × 2 + 12

a. 3

b. 6

c. 8

d. 2

Answer. d



77. The population of the city is 12368. Out of them 2382 are women and 4928 are men. Find the number of children in the city.

a. 5055

b. 5058

c. 5042

d. 5030

Answer. b

78. Suresh's yearly salary is 3,60,000. Find the monthly salary

a. 30,000

b. 20,000

c. 25,000

d. 45,000

Answer. a

79. The average of three numbers is 90. First two numbers are 120 and 80. Find the third number

a. 80

b. 70

c. 90

d. 60

Answer. b

80. If the area of a rectangle is 160 square units and its length is 8 units, what is its width?

a. 15

b. 12

c. 13

d. 20

Answer. d

81. 60 is what percent of 400?

a. 12

b. 18

c. 15

d. 16

Answer. c

82. The cost of 20 purses is 80000. Find the cost of 4 purses

a. 16000



b. 18000

c. 12000

d. 8000

Answer. a

83. LCM of 30 and 60

a. 30

b. 45

c. 15

d. 60

Answer. d

84. HCF OF 40 and 120

a. 80

b. 120

c. 40

d. 20

Answer. c

85. The sum of squares of two positive integers is 365. Find the integers

a. 13 and 14

b. 14 and 12

c. 12 and 18

d. 14 and 13

Answer. a

86. a+b=4 a^2-b^2=16 a-b=?

a. 3

b. -3

c. 6

d. 4

Answer. d

87. In a college there are 80 girls and total of 120 students. Find the number of boys

a. 30

b. 60

c. 40

d. 70

Answer. c



88. Who introduced Gini Index?

a. John A. Macdonald

b. Alexander Mackenzie

c. John Thompson

d. Corrado Gini

Answer. d

89. In which year Human Development Index (HDI) was introduced?

a. 1990

b. 2001

c. 1947

d. 2010

Answer. a

90. Which coutry have the highest HDI scores?

a. Switzerland

b. Japan

c. China

d. Tokyo

Answer. a

91. Which of the following is a key indicator of a country's Human Development Index (HDI)?

a. Military expenditure

b. Gross Domestic Product (GDP)

c. Total population

d. Life expectancy at birth

Answer. d

92. What kind of triangle is it if the angles are 30 degrees, 60 degrees, and 60 degrees?

a. Scalene triangle

b. Right-angle triangle

c. Isosceles triangle

d. Equilateral triangle

Answer. c

93. Find the missing number in the series: 1 1 2 3 5 8 ? 21.

a. 12



b. 13

c. 11

d. 9

Answer. b

94. If BED= DEB BAD= DAB CAT=?

a. ACT

b. TAC

c. CAT

d. ATC

Answer. b

95. Find the number of divisors of 10800

a. 57

b. 60

c. 72

d. 68

Answer. b

96. Find the missing number in the series:

a. 14

b. 22

c. 32

d. 320

Answer. c

97. What is 5% of 5% of 800?

a. 2

b. 4

c. 6

d. 3

Answer. a

98. Volume of cylinder is:

a. π r² h

b. 3π r² h



c. 2π r² h

d. 2/3(π r² h)

Answer. a

99. What is the area of a rhombus if the diagonals of a rhombus are 16cm and 12cm?

a. 96 cm^2

b. 98 cm^2

c. 102 cm^2

d. 89 cm^2

Answer. a

100. In a row all the persons are facing north, Rahul is 33rd from the left end and in the right side of Rahul, there are only 16 persons. Find out total number
of person in this queue?

a. 49

b. 50

c. 51

d. 48

Answer. a

Test Question    Language:- HINDI

1. कोणȑा सं̾थेने ‘मिहला, सȅा आिण कॅɌर’ अहवाल ŮिसȠ केला?

a. डɰुएचओ

b. सीडीसी

c. लाɌेट आयोग

d. जॉन हॉपिकɌ िवʷिवȨापीठ

Answer. c

2. अɔर भū योजना, जी बातमीमȯे पािहली गेली होती, तो कोणȑा राǛ /यूटी मधील Ůकʙ आहे ?

a. उȅर Ůदेश

b. मȯ Ůदेश

c. कनाŊटक

d. ओिडशा

Answer. c

3. लोक आिण Ůाǻांǉा सुरिƗततेसाठी िचंतेमुळे भारतीय सरकारने कोणȑा तणनाशकावर बंधने घातली आहेत?

a. Ƹायफोसेट

b. Ƹुफोिसनेट

c. एटŌ ािझन



d. काबŖɡुरन

Answer. a

4. कोणता देश आिण भारताने भिवˈातील आयसीटी, मोबाईल तंũǒाने आिण िडिजटल िशƗण उपŢमांमȯे सहयोग करǻाचे ठरवले?

a. थायलंड

b. िफनलंड

c. चीन

d. यूएसए

Answer. b

5. खादी आिण ŤामोȨोग आयोगाचे (KVlC) सीईओ ʉणून कोणाची िनयुƅी झाली आहे?

a. अजय भूषण पांडे

b. अिभषेक िसंग

c. अजय भूषण पांडे

d. िविनत कुमार

Answer. d

6. कोणȑा राǛामȯे भारतातील पिहले 3x ɘॅटफॉमŊ वारा टबाŊईन जनरेटर (WTG) įरɊू पॉवर Ȫारे बसवǻात आले आहे?

a. राज̾थान

b. कनाŊटक

c. तािमळ नाडु

d. पिʮम बंगाल

Answer. b

7. कोणता देश आिण भारताने फुकोट कनाŊली हायडŌ ोइलेİƃŌक Ůकʙ ̾थािपत करǻासाठी सामंज˟ करारावर ˢाƗरी केली?

a. नेपाळ

b. बांगलादेश

c. ʄानमार

d. चीन

Answer. a

8. कोणȑा राǛाने यूपीएससीची भूिमका काढून टाकून पोिलस Ůमुख िनवडǻासाठी ŮिŢयेमȯे सुधारणेचे िवधेयक मंजूर केले?

a. पंजाब

b. महारा Ō̓

c. केरळ

d. राज̾थान

Answer. a

9. कोणȑा रा Ō̓ ाने याकुितया अणु-ऊजőवर चालणारे आइसŰेकर सुŝ केले?



a. ऑ Ōːेिलया

b. ůाɌ

c. जमŊनी

d. रिशया

Answer. d

10. कोणȑा आिशयाई रा Ō̓ ाला IMF ǉा लविचकता आिण İ̾थरता सुिवधेकडून (RSF) Ůथम िनधी Ůाɑ झाला?

a. भारत

b. बांगलादेश

c. नेपाळ

d. पािकˑान

Answer. b

11. गालापागोस बेट हे युनेˋोचे जागितक नैसिगŊक वारसा̾थळ कोणȑा देशात आहे?

a. इंडोनेिशया

b. युकॅडोर

c. दिƗण आिůका

d. Ɋूिझलंड

Answer. b

12. INDUS-X हा भारत आिण कोणȑा रा Ō̓ ाचा संयुƅ उपŢम आहे?

a. ऑ Ōːेिलया

b. युके

c. युएसए

d. इटली

Answer. c

13. खालीलपैकी कोणȑा भारतीय समाज सुधारकाने राजयोग, कमŊयोग, भƅीयोग आिण ǒानयोगाची िनिमŊती केली?

a. एम. जी. रानडे

b. रामकृˁ परमहंस

c. ˢामी िववेकानंद

d. राजा राम मोहन रॉय

Answer. c

14. ˢराज एक रा Ō̓ ीय मागणी ʉणून Ůथम कोणी केली:

a. बाळ गंगाधर िटळक

b. दादाभाई नौरोजी

c. जवाहरलाल नेहŝ



d. िचȅरंजन दास

Answer. b

15. "इȱलाब िझंदाबाद" हे घोषवाƐ कोणी आणले?

a. भगत िसंग

b. मौलाना हसरत मोहानी

c. इकबाल

d. चंū शेखर आझाद

Answer. b

16. 1852 मȯे कोणी मंुबई असोिसएशन सुŝ केली, जी मंुबईǉा Ůशासनाǉा दरʄान पिहली राजकीय संघटना होती?

a. जगɄाथ शंकरशेट

b. दादाभाई नौरोजी

c. सुरŐū नाथ बॅनजŎ

d. सर सईद अहमद खान

Answer. a

17. खालीलपैकी कोणȑा कायȨाने घटनाȏक िनरंकुश तȕाची ̾थापना केली?

a. भारत सरकार कायदा 1919

b. भारतीय पįरषद कायदा, 1891

c. भारताचे ˢातंȒ कायदा, 1947

d. भारत सरकार कायदा, 1935

Answer. d

18. लॉडŊ Ƒाइʬǉा दुहेरी Ůशासन Ůणालीचा अंत करǻास कोण जबाबदार होते?

a. लॉडŊ करझॉन

b. लॉडŊ वॉरेन हेİːंƪ

c. लॉडŊ एमह Ŋː

d. लॉडŊ िलनिलथगो

Answer. b

19. वसईǉा तहावर ˢाƗरी झाली तेʬा पेशवा कोण होते?

a. बाजीराव I

b. बालाजी िबˢनाथ

c. बाजीराव II

d. माधवराव I

Answer. c

20. खालीलपैकी कोणी कपुरथळाचे राǛ ̾थापन केले?



a. बंडा बहादुर

b. जˣा िसंग अहलुवािलया

c. कपूर िसंग

d. वरीलपैकी कोणतेही नाही

Answer. b

21. खालीलपैकी कोणȑा काँŤेस अिधवेशनामȯे ˢराज पƗाची ̾थापना झाली?

a. नागपूर

b. कलकȅा

c. गया

d. लाहोर

Answer. c

22. खालीलपैकी कोणȑा वषŎ मȯ Ůांतांची िनिमŊती झाली?

a. 1861

b. 1862

c. 1863

d. 1864

Answer. a

23. कोणȑा वषŎ एम. एन. रॉय यांनी ताʭंद येथे भारतीय कʄुिनː पƗाची ̾थापना केली?

a. 1915

b. 1916

c. 1918

d. 1920

Answer. d

24. खालीलपैकी कोणी फरायझी िवūोहाची सुरवात केली?

a. भगत जवाहर माल

b. हाजी शįरयत-अʟा

c. सईद अहमद

d. िचराग शाह

Answer. b

25. भारतीय राǛांǉा भौगोिलक Ɨेũफळानुसार महारा Ō̓ ाचा Ţमांक कोणता आहे:

a. 1ला

b. 2रा

c. 3रा



d. 4था

Answer. c

26. खालीलपैकी कोणते पƗी अभयारǻ हे महारा Ō̓ ाचे पिहले रामसर ̾थान आहे?

a. नांदूर मȯमेʷर पƗी अभयारǻ

b. जायकवाडी पƗी अभयारǻ

c. मायानी पƗी अभयारǻ

d. यापैकी कोणतेही नाही

Answer. a

27. महारा Ō̓ ातील खालीलपैकी कोणते वɊजीव अभयारǻ बायसन अभयारǻ ʉणूनही ओळखले जाते?

a. फणसाड वɊजीव अभयारǻ

b. राधानगरी वɊजीव अभयारǻ

c. घोडझरी वɊजीव अभयारǻ

d. सागरेʷर वɊजीव अभयारǻ

Answer. b

28. खालीलपैकी कोणȑा वषŎ छũपती िशवाजी महाराज टिमŊनस हे युनेˋोने जागितक वारसा ̾थळ ʉणून घोिषत केले?

a. 2000

b. 2002

c. 2004

d. 2006

Answer. c

29. बाराचुſी धबधबा भारताǉा कोणȑा राǛात आहे?

a. कनाŊटक

b. आंŬ Ůदेश

c. तेलंगणा

d. तािमळ नाडु

Answer. a

30. दơनǉा पठारावरील खालीलपैकी मुƥ पीक कोणते आहे?

a. गš

b. भुईमूग

c. डाळी

d. कापूस

Answer. d

31. खालीलपैकी कनाŊटकचे सवाŊत उंच िशखर कोणते आहे?



a. मुʟयानिगरी

b. बाबा बुदान िगरी

c. iŰ˦िगरी

d. पु˃िगरी

Answer. a

32. कास पठार खालीलपैकी कोणȑा भारतीय राǛात İ̾थत आहे?

a. कनाŊटक

b. केरळ

c. आंŬ Ůदेश

d. महारा Ō̓

Answer. d

33. कोणते भारतीय राǛ देशातील मीठाचा सवाŊत मोठा उȋादक आहे?

a. तािमळ नाडु

b. गुजरात

c. महारा Ō̓

d. राज̾थान

Answer. b

34. अंदमान आिण िनकोबार बेटे कोणȑा जल Ůदेशात İ̾थत आहेत?

a. िहंदी महासागर

b. आİƃŊक महासागर

c. पॅिसिफक महासागर

d. बंगालचा उपसागर

Answer. d

35. दल सरोवर कोणȑा भारतीय कŐ ūशािसत Ůदेशात İ̾थत आहे?

a. चंदीगढ

b. अंदमान आिण िनकोबार बेटे

c. जʃू आिण काʳीर

d. लडाख

Answer. c

36. मɄारचे आखात भारताǉा कोणȑा राǛात आहे?

a. तािमळ नाडु

b. केरळ

c. कनाŊटक



d. आंŬ Ůदेश

Answer. a

37. भारताचे पिहले रा Ō̓ पती कोण होते?

a. डॉ. राजŐū Ůसाद

b. राम नाथ कोिवंद

c. Ůणब मुखजŎ

d. मनमोहन िसंग

Answer. a

38. भारतामȯे राǛ सरकारचे Ůमुख कोण असते?

a. राǛपाल

b. मुƥमंũी

c. रा Ō̓ पती

d. पंतŮधान

Answer. b

39. राǛसभेचा सद˟ होǻासाठी िकमान वयाची पाũता काय आहे?

a. 30 वषő

b. 40 वषő

c. 25 वषő

d. 35 वषő

Answer. a

40. भारतामȯे िवȅीय धोरणांची समीƗा करǻासाठी कोणती सिमती जबाबदार आहे?

a. आिथŊक सʟागार पįरषद

b. FRBM समीƗा सिमती

c. सावŊजिनक खाती सिमती (PAC)

d. िनयोजन आयोग

Answer. b

41. कोणȑा वषŎ FRBM समीƗा सिमतीची ̾थापना झाली?

a. 1947

b. 1950

c. 2015

d. 2016

Answer. d

42. भारतीय राǛघटनेनुसार लोकसभा िवसिजŊत करǻाचा अिधकार कोणाला आहे?



a. भारताचे सरɊायाधीश

b. रा Ō̓ पती

c. लोकसभेचे अȯƗ

d. महापौर

Answer. b

43. भारताǉा मुƥ िनवडणूक आयुƅांची िनयुƅी कोण करते?

a. भारताचे रा Ō̓ पती

b. लोकसभेचे अȯƗ

c. भारताचे सरɊायाधीश

d. भारताचे पंतŮधान

Answer. a

44. भारताǉा सवŖǄ Ɋायालयाǉा Ɋायाधीशांना काढून टाकǻाचा अिधकार कोणाला आहे?

a. रा Ō̓ पतीȪंारे िनयुƅ केलेली िवशेष सिमती

b. रा Ō̓ पती

c. भारताचे सरɊायाधीश

d. राǛपाल

Answer. b

45. भारतीय राǛघटनेचा कोणता अनुǅेद धमŊ ˢातंȒाǉा अिधकाराशी संबंिधत आहे?

a. अनुǅेद 32

b. अनुǅेद 19

c. अनुǅेद 21

d. अनुǅेद 25

Answer. d

46. कोणती संघटना भारताǉा संसदेला देशाǉा अथŊʩव̾थेवर िनयंũण ठेवǻास मदत करते?

a. आिथŊक सʟागार पįरषद

b. िनयोजन आयोग

c. सावŊजिनक खाती सिमती

d. िवȅीय सिमȑा

Answer. d

47. भारतीय राǛघटनेची कोणती अनुसूची नगरपािलकांचे सामȚŊ, अिधकार आिण जबाबदा̴या िनिदŊʼ करणा̴या तरतुदीशंी संबंिधत आहे?

a. दुसरी अनुसूची

b. चौथी अनुसूची

c. बारावी अनुसूची



d. पिहली अनुसूची

Answer. c

48. भारतीय राǛघटनेǉा कोणȑा अनुसूचीमȯे पंचायतीचें सामȚŊ, अिधकार आिण जबाबदा̴यांची यादी िदलेली आहे?

a. नववी अनुसूची

b. बारावी अनुसूची

c. दहावी अनुसूची

d. अकरावी अनुसूची

Answer. d

49. रा Ō̓ ीय अɄ सुरƗा कायदा केʬा मंजूर केला गेला?

a. 2013

b. 2014

c. 2015

d. 2010

Answer. a

50. रा Ō̓ ीय अɄ सुरƗा कायȨाȪारे (NFSA) अनुदािनत अɄधाɊे पुरवǻासाठी कोणȑा सामािजक गटाला लİƙत केले गेले आहे?

a. गभŊवती İ˓या आिण ˑनदा माता

b. 6 आिण 14 वषाōǉा मधील मुले

c. 65 वषाōवरील वįरʿ नागįरक

d. अंȑोदय अɄ योजना घरे

Answer. d

51. भारतातील रा Ō̓ ीय आरोƶ अिभयानाचे (NHM) Ůाथिमक लƗ काय आहे?

a. आरोƶसेवेǉा पायाभूत सुिवधा सुधारणे

b. आरोƶ िवमा योजनांची अंमलबजावणी करणे

c. वैȨकीय संशोधन आयोिजत करणे

d. वैȨकीय पयŊटनाला ŮोȖाहन देणे

Answer. a

52. यापैकी कोणते रा Ō̓ ीय आरोƶ अिभयानाचे Ůमुख लƙ नाही?

a. एकूण Ůजनन दर कमी करणे

b. मिहलांमधील ऍिनिमयाला Ůितबंध आिण कमी करणे

c. माता मृȑुदरात घट करणे

d. भारताǉा एकूण जीडीपी मȯे वाढ करणे

Answer. d

53. कोणȑा वषŎ रा Ō̓ ीय आरोƶ अिभयानाची ̾थापना झाली?



a. 2000

b. 2010

c. 2013

d. 2020

Answer. c

54. खालीलपैकी कोणता बŠआयामी गरीबी िनदőशांकाचा (MPI) एक घटक आहे?

a. िवदेशी थेट गंुतवणूक (FDI)

b. राहाणीमानाचा दजाŊ

c. शेयर बाजारातील कामिगरी

d. Ťॉस नॅशनल Ůॉडƃ(GNP)

Answer. b

55. भारतातील रा Ō̓ ीय Ťामीण उपजीिवका अिभयानाचे (NRLM) उिȞʼ काय आहे?

a. ˢयं-रोजगाराला आिण उȨोग िवकासाला ŮोȖाहन देऊन गरीबी कमी करणे

b. कृषीिवषयक अनुदानांमȯे वाढ करणे

c. Ťामीण Ůदेशांमȯे मोफत आरोƶसेवा पुरिवणे

d. शहरीकरण आिण ̾थलांतराला ŮोȖाहन देणे

Answer. a

56. खालीलपैकी कोणते मानव िवकास िनदőशांकामȯे (HDI) वापरले जाणारे िलंग असमानतेचे मोजमाप आहे?

a. िलंग समानता िनदőशांक (GPI)

b. िलंग िवकास िनदőशांक (GDI)

c. िलंग असमानता िनदőशांक (GII)

d. िलंग सƗमता उपाय (GEM)

Answer. c

57. कोणȑा आंतररा Ō̓ ीय संघटनेने शाʷत िवकास ȯेयांचा (SDG) पįरचय कŝन िदला?

a. जागितक आरोƶ संघटना (WHO)

b. आंतररा Ō̓ ीय नाणेिनधी (IMF)

c. संयुƅ रा Ō̓ े (UN)

d. जागितक ʩापार संघटना (WTO)

Answer. c

58. खालीलपैकी कोणता सहभागी लोकशाहीचा एक Ůमुख घटक आहे?

a. राजेशाही ʩव̾था

b. िनणŊय ŮिŢयेमȯे सŢीय नागįरक सहभाग



c. एक-पƗ िनयम

d. Šकूमशाही Ůशासन

Answer. b

59. खालीलपैकी कोणाचे भारतामȯे गरीबी कमी करǻावर लİƙत असलेʞा सामािजक सुरƗा नेट कायŊŢमाचे उिȞʼ आहे?

a. नॅशनल एरोनॉिटƛ ऍȵ ˙ेस ऍडिमिन Ōː ेशन (NASA)

b. महाȏा गांधी रा Ō̓ ीय Ťामीण रोजगार हमी कायदा (MGNREGA)

c. įरझʬŊ बँक ऑफ इंिडया (RBI)

d. भारतीय Ůितभूती आिण िविनमय मंडळ (SEBI)

Answer. b

60. "समावेशक वाढ" ही संकʙना काय आहे?

a. तंũǒान आिण नािवɊतेवर कŐ ūीत वाढ

b. आिथŊक वाढ Ǜामȯे समाजाǉा सवŊ Ɨेũांना लाभ होतो

c. िविशʼ उȨोगाची वाढ

d. शहरी भागांची जलद वाढ

Answer. b

61. Ůाǻांǉा वतŊनाǉा अɷासाचे शा˓ीय नाव काय आहे?

a. इथॉलॉजी

b. बॉटनी

c. एȴोमॉलॉजी

d. ऑिनŊथॉलॉजी

Answer. a

62. खालीलपैकी कोणता एक िवषारी साप आहे?

a. बोआ कॉİɍŌƃर

b. अजगर

c. रॅटल˘ेक

d. ऍनाकोडंा

Answer. c

63. खालीलपैकी कोणते एक िजɻो˙मŊ आहे?

a. ओक वृƗ

b. गुलाबाचे झुडुप

c. िलली फूल

d. पाईन वृƗ

Answer. d



64. माशाǉा ˢीम ɰॅडरचे कायŊ काय असते?

a. पचन

b. उȍावकता िनयंũण

c. ʷसन

d. पुनŝȋादन

Answer. b

65. कोणȑा ŮिŢयेȪारे वन˙ती Ůकाशाǉा ˓ोताǉा िदशेने वाकतात िकंवा वाढता?

a. फोटोŮोिपजम

b. फोटोिसंथेिसस

c. हायडŌ ोटŌ ोिपजम

d. ŤॅिवटŌ ोिपजम

Answer. a

66. िशशाचे रासायिनक िचɎ काय आहे?

a. Ld

b. Le

c. Pb

d. Pd

Answer. c

67. डोʨाचा रंग यामȯे उपİ̾थत असलेʞा रंगūʩावर अवलंबून असतो?

a. रॉड्स

b. बाŠली

c. कॉिनŊया

d. कोɌ

Answer. b

68. खालीलपैकी कोणते ˋेलर राशीचे उदाहरण आहे?

a. गती

b. बळ

c. Ůवेग

d. तापमान

Answer. d

69. वन˙तीमंधील फुलाचे कायŊ काय आहे?

a. फोटोिसंथेिसस

b. पुनŝȋादन



c. पोषक घटकांचे शोषण

d. पाणी साठा

Answer. b

70. खालीलपैकी कोणता एक अʋली धातू आहे?

a. सोिडयम

b. Ƒोरीन

c. ऍʞुिमिनयम

d. कॅİ̵शयम

Answer. a

71. खालीलपैकी कोणȑा लहरी कृिũम ŤहांȪारे संवाद साधǻासाठी वापरʞा जातात?

a. 101 मािलकेची वारंवारता

b. रेिडओ लहरी

c. सूƘलहरी

d. ए. एम.

Answer. c

72.कोणता िनयम िवधान करतो की आपतन कोण हा या कोनाǉा समान असतो ?

a. िडůॅƕन

b. įरůॅƕन

c. Ůसार

d. Ůितिबंब

Answer. d

73. खालीलपैकी कोणते डास चावǻामुळे होते?

a. टायफॉईड

b. कॉलरा

c. मलेįरया

d. ǨुबरƐुलॉिसस

Answer. c

74. 20 लोक असतील तर िकती हˑांदोलने होतील?

a. 140

b. 160

c. 190

d. 170

Answer. c



75. एका कुटंुबातील आठ मुलांǉा वयाची बेरीज 28 आहे. आठ वषाōनंतर ȑांǉा वयाची बेरीज काय असेल?

a. 92

b. 98

c. 96

d. 91

Answer. a

76. सरलीकरण करा: 70 – 40 × 2 + 12

a. 3

b. 6

c. 8

d. 2

Answer. d

77. एका शहराची लोकसंƥा 12368 आहे. ȑापैकी 2382 या İ˓या आिण 4928 पुŝष आहेत. तर शहरातील मुलांची संƥा शोधा.

a. 5055

b. 5058

c. 5042

d. 5030

Answer. b

78. सुरेशचा वािषŊक पगार 3,60,000 ŝपये आहे. ȑाचा मािसक पगार शोधा.

a. 30,000

b. 20,000

c. 25,000

d. 45,000

Answer. a

79. तीन संƥांची सरासरी 90 आहे. पिहʞा दोन संƥा 120 आिण 80 आहेत. ितसरी संƥा शोधा

a. 80

b. 70

c. 90

d. 60

Answer. b

80. जर आयताचे Ɨेũफळ 160 चौरस यूिनट आहे आिण ȑाची लांबी 8 यूिनट आहे तर ȑाची ŝंदी काय आहे?

a. 15



b. 12

c. 13

d. 20

Answer. d

81. 60 ʉणजे 400चे िकती टſे?

a. 12

b. 18

c. 15

d. 16

Answer. c

82. 20 पसŊची िकंमत 80000 आहे. 4 पसŊची िकंमत शोधा

a. 16000

b. 18000

c. 12000

d. 8000

Answer. a

83. 30 आिण 60चे LCM

a. 30

b. 45

c. 15

d. 60

Answer. d

84. 40 आिण 120चे HCF

a. 80

b. 120

c. 40

d. 20

Answer. c

85. दोन धन पूणाōकांǉा वगाōची बेरीज 365 आहे. ते पूणाōक शोधा

a. 13 आिण 14

b. 14 आिण 12

c. 12 आिण 18

d. 14 आिण 13

Answer. a



86. a+b=4 a^2-b^2=16 a-b=?

a. 3

b. -3

c. 6

d. 4

Answer. d

87. एका कॉलेजमȯे 80 मुली आहेत आिण एकूण 120 िवȨाथŎ आहेत. तर मुलांची संƥा शोधा

a. 30

b. 60

c. 40

d. 70

Answer. c

88. िगनी इंडेƛचा पįरचय कोणी कŝन िदला?

a. जॉन ए. मॅकडोनाʒ

b. अले̋झांडर मॅके̢झी

c. जॉन थॉɼसन

d. कोराडो िगनी

Answer. d

89. कोणȑा वषŎ मानव िवकास िनदőशांकाचा (HDI) पįरचय केला गेला?

a. 1990

b. 2001

c. 1947

d. 2010

Answer. a

90. कोणȑा देशाचे सवाŊत उǄ HDI गुण आहेत?

a. İˢट्झरलँड

b. जपान

c. चीन

d. टोिकयो

Answer. a

91. खालीलपैकी कोणते एखाȨा देशाǉा मानव िवकास िनदőशांकाचे (HDI) Ůमुख सूचक आहे?

a. लʺरी खचŊ



b. Ťॉस डोमेİːक Ůॉडƃ (GDP)

c. एकूण लोकसंƥा

d. जɉाǉा वेळी आयुमाŊनाची अपेƗा

Answer. d

92. तो कोणȑा Ůकारचा िũकोण आहे जर कोन 30 अंश, 60 अंश आिण 60 अंशाचे आहेत?

a. ˋेलेन िũकोण

b. काटकोन िũकोण

c. समिȪभुज िũकोण

d. समभुज िũकोण

Answer. c

93. मािलकेमधील गहाळ संƥा शोधा: 1 1 2 3 5 8 ? 21.

a. 12

b. 13

c. 11

d. 9

Answer. b

94. जर BED= DEB BAD= DAB CAT=?

a. ACT

b. TAC

c. CAT

d. ATC

Answer. b

95. 10800ǉा भाजकांची संƥा शोधा

a. 57

b. 60

c. 72

d. 68

Answer. b

96. मािलकेतील गहाळ संƥा शोधा:

a. 14

b. 22



c. 32

d. 320

Answer. c

97. 800ǉा 5%चे 5% ʉणजे िकती?

a. 2

b. 4

c. 6

d. 3

Answer. a

98. िसिलंडरचे Ůमाण असे आहे:

a. π r² h

b. 3π r² h

c. 2π r² h

d. 2/3(π r² h)

Answer. a

99. समभुज चौकोनाचे कणŊ 16cm आिण 12cm असʞास समभुज चौकोनाचे Ɨेũफळ िकती असेल?

a. 96 cm^2

b. 98 cm^2

c. 102 cm^2

d. 89 cm^2

Answer. a

100. एका ओळीतील सवŊ ʩƅीचें उȅरेकडे तोडं आहे, राŠल डाʩा टोकापासून 33 ʩा Ţमांकावर आहे आिण राŠलǉा उजʩा बाजूला फƅ 16 ʩƅी आहेत. या रांगेतील एकूण
ʩƅीचंी संƥा शोधा?

a. 49

b. 50

c. 51

d. 48

Answer. a

Test Answer

1. (c) 2. (c) 3. (a) 4. (b) 5. (d) 6. (b) 7. (a) 8. (a) 9. (d) 10. (b)

11. (b) 12. (c) 13. (c) 14. (b) 15. (b) 16. (a) 17. (d) 18. (b) 19. (c) 20. (b)

21. (c) 22. (a) 23. (d) 24. (b) 25. (c) 26. (a) 27. (b) 28. (c) 29. (a) 30. (d)

31. (a) 32. (d) 33. (b) 34. (d) 35. (c) 36. (a) 37. (a) 38. (b) 39. (a) 40. (b)

41. (d) 42. (b) 43. (a) 44. (b) 45. (d) 46. (d) 47. (c) 48. (d) 49. (a) 50. (d)

51. (a) 52. (d) 53. (c) 54. (b) 55. (a) 56. (c) 57. (c) 58. (b) 59. (b) 60. (b)

61. (a) 62. (c) 63. (d) 64. (b) 65. (a) 66. (c) 67. (b) 68. (d) 69. (b) 70. (a)



71. (c) 72. (d) 73. (c) 74. (c) 75. (a) 76. (d) 77. (b) 78. (a) 79. (b) 80. (d)

81. (c) 82. (a) 83. (d) 84. (c) 85. (a) 86. (d) 87. (c) 88. (d) 89. (a) 90. (a)

91. (d) 92. (c) 93. (b) 94. (b) 95. (b) 96. (c) 97. (a) 98. (a) 99. (a) 100. (a)


